
Math 30 – Workshop #12

1. Differentiate the following.

(a) f(x) = x2 secx

(b) g(x) =
1 + tanx

cosx
(c) h(x) = ex cosx

(d) k(x) =
1 + sinx

1 + cosx

2. Find an equation for the line through the point (1,−5) that is parallel to the tangent line to the graph of
f(x) = 3x + x tanx at x = 0.

3. Differentiate the following.

(a) g(x) =
1 + sinx cosx

x2 − tanx

(b) h(x) =
sinx

1 + sinx

(
2 +

3 − cosx

cosx

)

4. Find an equation for the tangent line to the graph of k(x) =
x + x sinx

1 + cosx
− 1 at x = 0.


